NORD =

DONNEUR

LES ENCHERES

OUEST |8 H|P|[P|P]|P]
PIQUES V

CEURS 10 4

CARREAUX D 9 6 3

TREFLES R D 10 5 4 2
GAGNANTES

PIQUES 2

CCEURS 6

CARREAUX | 2

TREFLES | 1

NORD |15 H [15A] 2c|4ac]|5T]6C|

PIQUES A 10 9 8

CCEURS R D 5

CARREAUX V 10 8

TREFLES A V 3
EST 2 Hip|P|P|[P|
PQUES D 7 6 3 2
CCEURS 3 2
CARREAUX 7 2
TREFLES 9 8 7 6

sub |15 H |2K]3K|[4sA| 5c|

PIQUES R 5 4

CEURS A V 9 8 7 6

CARREAUX A R 5 4

TREFLES
PERDANTES

MANCHE 6C PIQUES 1

NORD/SUD CCEURS 0
CARREAUX | 1
TREFLES | 0




